Total No. of Printed Pages : 29

(DO NOT OREN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU
ARE ASKED TO DO SO)

PG-EE-2017
SUBJECT : M. Com. Hons. (Five Year)

D 10344

T TR TS
Time : 1% Hours Total Questions : 100 Max. Marks : 100
Roll No. (in figures) (in words)
Name Date of Birth
Father's Name Mother's Name
Date of Exam
(Signature of the Candidate) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE
STARTING THE QUESTION PAPER.

1. All questions are compulsory and carry equal marks. The Candidates are required to
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1. Which of the following is not Indian MNC's ?

(1) Ranbaxy (2) Infosys
(3) Brook Bond (4) Asian paints
PreferRad 3 @ B AT agasa e T8 R 2
(1) wrda= (2) TP
(3) g® dfs (4) TR Tew

2. 'Heterogeneity' is the nature of which type of business service ?
(1) Banking (2) Warehousing
(3) Insurance (4) All of the above
Rftudr f6a YR & JIET JGT @ P 8 7
(1) dfew (2) JERETSRIT
(3) & (4) IURrE J

3. Factoring facility is :
(1) Advertising service | (2) Financial service
(3) Courier serVice (4) Customer support services
(1) fasmo= [an (2) fosirg ar
(3) BRI waT (4) UTED {AT [AT

4. Which of the following is not the social responsibility of business towards investors ?
(1) To ensure safety of capital
(2) To avoid adulteration
(3) To ensure proper dividend
(4) To ensure proper utilization of capital
frefoRad # 1 B9 FRwe! & iR @ar &1 e <iied 78 2 2
(1) Ioir o gram Gfem w1 & fem
(2) framEe 3 991 % forg
(3) Sfaa emie gRRea ax= @ fog
(4) S A S SR B gRREd e B g
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5. ADR'sareissuedin:

(1) Canada (2) India

(3) China (4) USA

ADR's 9¥I &4 & :

(1) wrsT A (2) a #

(3) @9 # (4) IMR&T H

6. The maximum investment limit of Tiny sector in plant and machinery is :

(1) Rs.1Lakh (2) Rs. 1 Crore

(3) Rs. 25 Lakhs ' (4) Rs. 10 Lakhs
. il g #Ie F S oy & @ ifdeaw e A @

(1) TP o %o (2) TH IS To

(3) 25 &g %o (4) 10 o9 o

7. To sell readymade garments for children, men, women is the example of :

(1) Single Product Shop (2) Single Line Shop
(3) General Store (4) Departmental Store
(1) Tod IS FPE (2) THd Y& gHI
(3) IR TR (4) feurdiea R
8. IBRD (International Bank for Reconstruction and Development) is also known as :

(1) World Bank (2) Exim Bank
(3) International Bank (4) International Monetary Fund
gAfTT vd e RS 9% (IBRD) &1 it wd # +ft Sie1 o7t &
(1) favg = (2) sfom 9%
(3) SRS da - (4) SfotSdT goT B

9. Which of the following is an important document used in export trade ?
(1) Letter of credit (2) Certificate of origin
(3) Both of the above (4) None of the above
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10.

11.

12.

13.

' 3
frefaRad ¥ ¥ @1 fafd @R § wyad e Al w@mEs 8 ?

(1) IRE-u= (2) IITH FHOT 9

(3) SWRIEKT aHT (4) ST § F Py 7TE
The portfolio investment by foreign Institutional investors is called :
(1) FDI (2) FII

(3) Balance of Payment ' (4) SDR

frely weemell @ Fawe! g1 ACHIferal fae deelr § -

(1) T% < 7% (2) T® 3 M

(3) AT €T (4) TH S IR

Share applicationisa .............. account.

(1) Personal (2) Real

(3) Nominal (4) Secure

3feT ATH U . Qe 2 |

(1) eafderad (2) arxifde®

(3) T (4) g

Debentures issued as collateral security will be debited to :

(1) Bank A/c ‘ (2) Debenture Suspense A/c
(3) Debentures A/c (4) Loan A/c

Frfias afrfy @ wu § Frifaa soest a1 Sfie fear s

(1) d& @@l (2) FOTIH FF Gl

(3) ZUTIH ATl (4) o1 @

In case debentures of  2,00,000 are issued at par but payable at a premium of 5%, the
premium payable will be debited to :

(1) Securities premium Account

(2) Premium on redemption of debenture A/c

(3) Loss on issue of debenture A/c

(4) Debenture A/c

Z 200,000 & FUTGH @ FrtaT wed R fbw 5% MR w 2@ 8 WEE <@ sfae
BT ¢

(1) ufemfa Nifvgs @ (2) ZUTH @A B e R NEgw

(3) s Wi & T ) e (4) FEOUF Wl

PG-EE-2017/(M. Com. Hons.)/(D) P.T.O.



4 D
14. If vendors are issued Debentures of ¥ 80,000 in consideration of net assets of
_? 1,00,000, the balance of ¥ 20,000 will be credited to :
(1) Profitand Loss A/c (2) Goodwill A/c
(3) General Reserve A/c (4) Capital Reserve A/c

% 1,00,000 @& g& gRFuREl & FeRer # 3 fawar T 80,000 & oz fAifia axar g,
a1 20,000 @7 AW BfSe B

(1) o™ g &1 @ (2) wIfy @rer

(3) HY T el (4) o daw <

15.  Profit on redemption of debentures is transferred to :

(1) Profitand loss A/c (2) Securities Premium A /c
(3) General Reserve A/c (4) Capital Reserve A/c
FROTTAL. B WMET IR A AR BT

(1) <™ wd &1 @ren (2) wferafar D @ren

(3) | g wn (4) S o @

16. X Ltd. wants to redeem 5,000, 5% Debentures of ¥ 100 each at 5% premium. If it has

already a balance of ¥ 1,00,000 in Debenture Redemption Reserve A/c, the amount
required to transferred to this A/cis:

X%ﬁéss,ooozmma:w%ﬁ%mwm?1oow5°/ommm%|aﬁm
I U8l ¥ FUTUE IEE W9d 9@rd ® T1,00,000 99 ®, A o @i A QAR R B

fore smavgs <fd & -
(1) %1,50,000 (2) ¥ 3,00,000
(3) ¥4,00,000 (4) ¥4,25,000

17. Y Ltd. redeemed 6,000, 9% debentures at a premium of 5% by converting them into
equity shares of ¥ 10 each at ¥ 9. State the number of equity shares issued :

(1) 60,000 shares (2) 70,000 shares

(3) 80,000 shares (4) 90,000 shares
PG-EE-2017/(M. Com. Hons.)/(D)
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' Y%ﬁé@ﬁmoowrrﬁa:rS%;ﬁ‘rfﬁmqv%qusﬁzﬁ‘rm?ma%wwhaﬁ
?9@%%1%%&@%@&%@@.
(1) 60,000 3f=r : (2) 70,000 3feT
(3) 80,000 37eT (4) 90,000 3%

18. Contingent Liabilities includes :
(1) Guarantees given by the Company
(2) Deferred Tax Liabilities
(3) Revaluation Reserve
(4) Share application money pending allotment
i e ® wATRd ®
(1) & gRT @ TE IR
2) fewe = T
(3) g Herd
(4) ¥R U@ w4 R gelfede

19. Which among the following is not an advantage of Financial Statement Analysis ?
(1) Provide useful information to the users of financial statement.
(2) Profitability of business can be judged.
(3) Effected by biasness of the analyst.
(4) Helpful in tak'mg investment decision.
fre ¥ B g woie fveNy &1 tE T e € 7
(1) frdrg weite @ goR @1 Sudnl ga <l B
(2) R & ST BT AR g =
(3) Rwws & gaiuE & gRI YA 2
(4) frer Fofg o9 R eS|

20. Which statement is false for comparative financial statement ?
(1) It shows increase and decrease in various assets, liabilities and capital.
(2) It throws light on nature, size and direction of change.

(3) Items are shown as a percentage of common base.
(4) None of these
PG-EE-2017/(M. Com. Hons.)/(D) P.T.O.



BT WeHe Jorord g Wede & iy s & ?
(1) ' fafi=r wufy, <R gd Gl & 9fg v & <utar
(2) T8 9REdT &1 UPf, MHR MR e W gevrer sreram 2 |
(3) oY MA 99 & yfawd @ w9 § fwd €

(4) 3 W B T |

21. Name the concept which increases the return on equity shares with a change in the
capital structure of a company ?

(1) Return on Investment (2) Trading on equity
(3) Financial Leverage (4) None of these
S JAURT BT T QY S T prol & dfied waar § aRads & ar 3fad) /R
R Rest gorar 2
(1) Re ot gawede ) f&T 3ifF sfad
(3) Wil favs (4) 39 & 31 FE
22. Capital budgeting is a part of :
(1) Investment Decision (2) Working Capital Management
(3) Marketing Management (4) Capital Structure
o gifeT W & -
(1) fraer fofas @ (2) s GO gawE &1
(3) fauvr e @ (4) TSN AR B
23. Which of the following is not related to money market ?
(1) Call Money Market (2) Certificate of Deposits
(3) Primary Market (4) Commercial Bill

ﬁwf{@rﬁ?{ﬁwﬁmﬁm T 7 ?

(1) Tfera HaT IR (2) &g &1 yEoTTH

(3) "rff® IR (4) amaal¥e 9
24. Trading before and after working hours of Stock Exchange is :

(1) Insider Trading (2) Kerb Trading

(3) Speculation (4) None of these

PG-EE-2017/(M. Com. Hons.)/(D)



25.

26.

27.

28.

7
e g & o @ ugdl U a8 # (T w
(1) grarEsR ofeT (2) &4 <
(3) WA (4) T P
Which among the following is not an element of Marketing Mix ?
(1) Product Mix (2) Distribution Mix
(3) Part Mix (4) Price Mix
fre § B e s o1 o< 78 € ?
(1) Sarg s (2) fac=or fAsor
(3) ure s | (4) 7o o
Point of Purchase Ads are also known as :
(1) In-store advertising (2) Built-in advertising
(3) Green advertising (4) Stock advertising
a Rgmod & Reg @ I8 W FE o
(1) $9-R fem | ) safifea fasm
(3) M= fasma (4) i R
A consumer contest is an example of :
(1) Personal selling (2) Sales promotion
(3) Publicity (4) Advertising
T Ioa RN SETERT ®
(1) Fafes faswa &1 ) Rwa s &
(3) WEIRT BT (4) fasmos &

According to which consumers' right, consumer can file a complaint against all those
which is Prejudicial to his interest ?

(1) Right to seek redressal (2) Right to be heard
(3) Right to be informed (4) Right to consumer education

ﬁﬂ-ﬁmﬂﬁ%aﬁﬁﬁ%@ﬂ,q@ﬂﬁﬂﬁvﬁwﬁﬁiﬁqﬁ@a%ﬂ%
faog Rremad ol &1 Fadl & 7

(1) FrarRe @ qamr &1 AR (2) g B AEBR
3) i T BT ARBR (4) TEs R F1 ARBR

PG-EE-2017/(M. Com. Hons.)/(D) P.T.O.
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29. Charu wants to buy a packet of juice. As an aware customer how can she be sure
about the quality of juice she plans to buy ?
(1) FPO mark (2) ISI mark
(3) Hall mark (4) None of these

I S BT T& Udhe WG A1Ed1 © | Uh SIFRedh JT6dh & wU H g8 D Sfd Bl Tora
@ IR # GARET R AFdl & O a8 @i o Ao g @8 B 2

(1) FPO #1a (2) ISI AT
(3) EfeHTd 4) T | BE T

30. Why should an entrepreneur do a feasibility study for starting a new venture ?
(1) To see if there are possible barriers to success
(2) To identify possible sources of funds
(3) To estimate the expected sales

(4) To explore potential customers

ww@ﬁwﬁﬁmaﬁsﬁm$mwmﬁmwmﬁ?mma@v?
(1) I8 @9 & fv f& w1 awerar @ fay 999 vy &

(2) ®ve & FHIAT Al BT ST

(3) F9ifad faspal &1 AT H=AT

(4) FRE e @) @S BHRAT

31. Sum total of the financial value of all the produced goods and services during a year
in a country is :

(1) GDP | (2) GNP

(3) NDP (4) National Income

T A H TP 99 D SR A SAfRd axqgelt vd Harstt o1 O o &1 | A ©
(1) st 0 ‘ (2) S g9 9

3) T (4) T 3T

32. Globalisation includes :
(1) Reducing tax rates
(2) Increasing role of private sector
(3) Free flow of capital in all countries
(4) Modernisation of industrial system of country

PG-EE-2017/(M. Com. Hons.)/(D)



33.

34.

35.

Jedipror # It & ¢

(1) PR & S FF 8T

(2) fooh &3 @ 9HST T

(3) &Y < # YSH BT HoxI UATE

(4) w1 & 3NeNfw Fomed BT MeYfBIaRoT

The general statement which is decided for the guidance of the employees while

taking decision is:

(1) Strategy : (2) Policy

(3) Procedure (4) Programme

frofr <Ry < e fave, S Ry edERal & At @1 ffted evar e, €
(1) wesh (2) =fa

(3) wfshar (4) FTIHA

What is another name for contingenc‘y planning ?

(1) Synergy planning (2) Ad hoc planning
(3) Business level planning (4) Scenario planning
MHRAB IS BT AT A9 F1 8 ?

(1) ATITSHT ST (2) TS Efd AT

(3) @aaRd WR B YIS (4) R Ao

Span of mahagement refers to :

(1) Number of managers

(2) Length of term for which a manager is appointed

(3) Number of subordinates under a superior

(4) Number of members in top management

e 1 fawaR deffa &Rar ©

(1) Ta=Iah! & el

(2) 37 vt & el R oy ve weeus fgaa fa S @
(3) o ORI & srcria sEfiwrer o1 ww=a

@) M gewE | Al B |
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36.

37.

38.

39.

D

For delegation to be effective it is essential that responsibility be accompanied with
necessary :

(1) Authority (2) Accountability

(3) Incentives (4) Promotions

SRR ewr 31 T 3% @ R TE omaveE 5 SeRaTE @ W oifard @
(1) wifererR (2) STaTERE!

(3) zifed (4) wHrE

Which of the following does not follow the scalar chain ?

(1) Functional structure (2) Divisional structure
(3) Formal organization (4) Informal organization
1 § | P91 TheR AT BiAl T&T dRal & ?

(1) wHRTE FEaR () fedroe YR

(3) Wha siftaTESTeT (4) FTHh siffEoe
Which of the following does not come under "On the job training" ?
(1) Apprenticeship programme (2) Vestibule training

(3) Internship training (4) Job rotation

o § @ @19 39 T 9 T @ srata 78 emar ® ?

(1) gwRfeaRm v (2) I g

(3) greiRm off (4) Sifq e

Which of the following is not an external source of recruitment ?

(1) Advertisement (2) Casual callers

(3) Promotions (4) Recommendation of employees
f= § | -1 Repeic &1 ta taded 9 T8 6 7

(1) s | (2) Her PRI

(3) SR (4) Rz sl grags

PG-EE-2017/(M. Com. Hons.)/(D) -



40. Process of staffing includes :
(1) Estimating manpower requirement (2) Recruitment
©) Selection 4) All
T @Y Wik # Wi ©
(1) FqrR Rearaddie o WeMe &A1 (2) Repea—<
(3) et (4) N

41. Last Step of accounting process is :
(1) - Record transactions in the books
(2) Provide information to various parties who are interested in business enterprise
(3) To classify the transactions under separate heads in the ledger
(4) To make summary in the form of financial statements
I AT BT AT TROT E
(1) T 3 e Bl GOl PRl
(2) Wmﬁwwmﬁwmﬁﬁmﬁ
(3) AT 4 STET-aTerT WAl B S oad P qHpd Bl
(4) frchwr fagRor & o # wférer faaRor I

42. Which of the following is capital expenditure ?

(1) Wages (2) Repair expenses of building
(3) Wages paid for building construction (4) Advertisement expenses
Prafoan § @1 doia =3 € 7

(1) #ored (2) W wE T

(3) wast Fwior @ forg worgdy @1 g (4) fasaE @4

43. Convention of consistency means :

(1) All the firms in the same industry should use identical accounting principles and
procedures

(2) All principles and procedures of accounting are used

(3) Accounting principles and methods should remain consistent from one year to
another

(4) All of the above
PG-EE-2017/(M. Com. Hons.)/(D) P.T.O.
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FRORAT & B a1 aref & \
(1) & & Selm & @ Suf il o wae orar Rigral ofR ufbare o swin ex =1y
(2) oNEied & T RigTat ok ufthamsit &1 SuanT a=Ar TRy '

(3) @i Rigra dur AR @ af ¥ TR af 0o PRaR &= ke

(4) SRR T

44. Which of the following statement is not correct ?
(1) Assets = Capital + Liabilities (2) Capital = Assets — Liabilites
(3) Liabilities = Assets — Capital (4) Liabilities = Capital — Assets
e & & @iF-a1 T w& 787 8 ?
(1) wuRr = goft + e ) T = wuRY - Tl
(3) I = WY - g (4) TR = $ - <y

45. Unfavourable bank balance means :
(1) Credit balance in the Cash Book
(2) Credit balance in the Pass Book
(3) Debit balance in the Cash Book
(4) Favourable balance in the Cash Book

gfdaet d& 29 @ aref B ¢
(1) JHe g8 # 57 Ay (2) U g% § W Y
(3) JHs FE H Sfde 9y 4) IS T F e Uy

46. Sold goods for cash of the list price of ¥ 8,000 at 10% trade discount and 3% cash
discount. Posting will be made in Discount A /c:

(1) T 216 on Debit side (2) %216 on Credit side

(3) ¥ 240 on Debit side (4) T 240 on Credit side

10% s f@1ST &1 3% B fwpee W) T 8,000 @ fore wisd @ &9 & faw a@ret =
T | fevese terse | yfafte & SRRl

(1) sfde ger & T 216 (2) wfse ver § T 216

(3) Sfde uer & T 240 (4) wfeT wer ® T 240

PG-EE-2017/(M. Com. Hons.)/(D)
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47. A briefcase purchased for ¥ 800 for the son of a partner was debited to General
expense A/c with ¥ 80. In the rectifying entry, Drawing A/c should be debited with :

T WEER & 9¢ @ forg R Sooaﬁrwéﬁtﬁa‘maﬁmwvﬁmzﬁ@ﬁﬁ? 80 &
Wﬂéﬁzﬁmﬂmlmﬁﬁqﬁf&iﬁ,;ﬁﬁw&m%waéﬁam?

(1) 880 (2) 800

3) 720 (4) 80

48. A machine was brought for ¥ 1,00,000. Its estimated useful life is 4 years with a
residual value of ¥ 10,000. Depreciation is charged on straight line method. What is

the percentage of depreciation rate on an annual basis ?

T " X 1,00,000ﬁaéﬂé|ma§mﬁﬁma@4aé$wamm
7 3 10,oooélwmmmwmwmﬁﬁ%!mﬁmawwwﬁaﬂ

gfererd @1 8 ? |
1) 25% (2) 22.50%
(3) 17.50% (4) 15%

49. Ram gets Mohan's acceptance for T 12,000 discounted at 2 months at 12% p. a. The

amount of discount will be :

M B AET Bl T 12,000ugfﬁmmzﬁﬁwu%w%aéﬁwﬁﬁﬁ%uqaaﬁ

IHH B
(1) X240 2) T 120
(3) ¥ 144 (4) T 360

50. If Rent expenses are Z 5,000; Insurance expenses are Z'4,000; Prepaid rent expenses are

'Z3,000. What amount of total expenses will be shown in income statement ?

afy faxmar @4 X 5,000, @m@—a z 4,000, drire fr=rar @ T 3,000 ¥ ama fqaxor # |
Td & w @ R S ?
(1) Z9,000 (2) % 12,000
(3) % 8,000 (4) % 6,000
PG-EE-2017/(M. Com. Hons.)/(D) P.T.O.
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51. Ram and Shyam were partners in a firm sharing profits and losses in the ratio of 2 : 1.

From 1st January, 2017, they agreed to share profits and losses equally. Due to this :

(1) Ram sacrificed% nd share (2) Shyam gained %th share

(3) Shyam gained ith share (4) None of these

Y AR M U B H ATRIER a1 o U9 8 2 ;1 B U A dfed §1 1 oWad,
2017 1 9 WEHT B © b @ Ud g1 a_TeR e | 39 BRY

(1)Wf%ﬂmzm?qmcﬁm (2)wmafr%ﬁm€m?«ms’m

(3)maﬁ—i—mmwm (4) 38 & PIg 7E

52. Reconstitution of partnership firm takes place, when :.
(1) There is admission or retirement of partner
(2) There is change in profit sharing ratio among existing partners
(3) Both of the above
(4) None of the above
(1) WIER BT 999 fer@r Janfghy B &
(2) HIS[ET WRERI # AT 37 U ¥ ggold B @
(3) SWIeT gl
(4) SWIET ¥ B T8

53. If the new partner, during admission to firm, brings his share of goodwill in cash, it
will be shared by old partners in :

(1) Sacrifice ratio (2) Old profit sharing ratio

(3) New profit sharing ratio (4) Equally

afe 1 WEER, B9 § AR $ ARM, U WOy w1 46T G ol @, o) 98 R®E
(1) | U | (2) QRIET @™ ARIERY U #

(3) AT @M WHIZIERY T H (4) @99 ®©9 H

PG-EE-2017/(M. Com. Hons.)/(D)
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54.

55.

56.

15

X, Y and Z are sharing profits in the ratio of 4 : 3 : 2. X retires. Y and Z will share

profits in ratio of 5: 3 in future. If X gets ¥ 12,000 as goodwill, Y and Z will be debited
from:

(1) % 6,500 and X 5,500 respectively (2) ¥7,500 and ¥ 4,500 respectively
(3) ¥ 4,000 and X 8,000 respectwely (4) ¥7,875andX 4, 125 respectively A

X, Y T Z T BT 423 2zﬁa§mﬁﬁm%lxﬂmﬁﬁ€rm%w6wzmaﬁ
wfgsr # 5 : 3$Wﬁﬁm%|aﬁxwﬁ$wﬁ % 12,000 TTS AT ©, ALY TRl

7 31 Sfe frar ST
(1) @ T 6,500 721X 5,500 (2) ¥ T 7,500 I 4,500
(3) e ¥ 4,000 AT 8,000 (4) e T 7,875 AT X 4,125

On the death of a partner, the amount of Joint Life Policy is credited to the capital
Accounts of :

(1) Only the deceased partner

(2) All partners including the deceased partner

(3) Remaining partners, in the new profit sharing ratio

(4) Remaining partners, in their old profit sharing ratio
mﬂaﬁww,ﬁgﬁﬁﬂaﬁmaﬁmﬁgﬂ@ﬁﬁﬁm'ﬁ:
(1) Dael Jad AR

(2) OB WEER Afed T RIECIN

(3) o WEER, T A 3 FgAr

(4) Iy FRIER, SF qRE T 37 AU A

Amount due to out going partner is shown in the balance sheet as his :

(1) Asset (2) Liability
(3) Capital (4) Loan
At wRER & BT IR ger w # R § swa
(1) wufzr A ) =ifia ¥
(3) don H (4) o1 H

PG-EE-2017/(M. Com. Hons.)/(D) P.T.O.
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- 57. On dissolution of a firm, its Balance Sheet revealed capital ¥ 5,00,000; General Reserve

4 2,00,000; creditors ¥ 1,00,000 and cash balance ¥ 20,000. Assets were realized at 60%.

What will be loss on realisation ?

B4 @ fadged w, 39 e o # Goft ¥ 5,00,000 T B ¥, AR @@ T 2,00,000,
@FGR ¥ 1,00,000 T FHEY Y X 20,000 ¥ | FURT B RGN 60% W T | TG W w7 B0

BT ?
(1) % 4,68,000 () %3,12,000
(3) T4,80000 - (4) %3,20,000

58. At the time of dissolution, all the assets of firm are transferred to the realization A /c

at:

(1) Market value (2) Cost value

(3) Book value (4) Bale value
faued & w7, B & T FRy ol @ # v e
(1) IR o7 & (2) T eI WX
(3) TW® T W | (4) 99 T W

L {

59. Securities premium A /c can be used for :

(1) Paying tax liability
(2) Paying dividend on shares
(3) Allowing discount on Ehe re-issue of forfeited shares
(4) Meeting fhe cost of issue of shares and debentures
wfergfa A @rer & forg warT far o1 waar 2
(1) X TR BT YT
(2) 3feM TR ATHIL BT YA ‘ ’
(3) Wi 3 & YAFTH WR BT B goed oA
(4) o=l vd el & R @ ARTa B qRT e
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60. If a share of ¥ 10 issued at a premium of ¥ 2 of which % 9 (including premium) have

been called and % 5 (including premium) paid is forfeited, the cap1ta1 A/c should be
debited by :

aft 7 10 arem T o ¥ 2 Dt o frffa R iR 7 9 (v afa)
amis(mﬂ%ﬁ)mq?mﬁmw@wéﬁzmm%q | |

(1) 212 @ 10

3) 29 @) T7

61. To obtain the amount of credit sales made during an accounting period, which

account is generally used in single entry and incomplete records ?
(1) Account Payable Account (2) Total Revenue Account
(3) Debtors Account (4) Stock Account

Wm@zﬁwmwﬁﬂéﬁaﬁﬁmmmﬁmmqﬁ%aw
a@mﬁmwwwmmm%?

(1) vase Ufde Tahrse (2) Hel IORE W
(3) TR W (4) <eRvan @

62. When cash is received for life membership, which one of the following double entries
is passed ? '

(1) Cash debit and capital credit

(2) Life membership debit and cash credit

(3) Investment debit and cash credit |

(4) Cash debit and life membership fund credlt
WW@U%WWWWW%HWW#@W@M

m‘%ﬁ%aﬂ oiRa @ SR € ?

(1) Jws e vd Tl e

() arsiias FRRY e wd b BT

(3) frer e wd Aws Hise

4) Vrs e 1d e A== B WieT
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63. Which of the following is a function of an Accounting Information System ?
(1) Reducihg the need to identify a strategy
(2) Transforming data into useful information
(3) Allocating organizational resources
(4) Automating decision making
frfaRad § & SF-A1 EiET a1 yonell &1 B B 2
(1) w@ﬁﬁaﬁwmaﬁwaﬁwm
(2) STeT BT SYART FIAAT H [AART HRLAT
(3) FTeATHS ATl BT Arafed wRAT
(4) anfera fofas

64. Which of the following is an accounting package's category ?

(1) Ready to use 4 (2) Customised
(3) Tailor made (4) All of the above
Frerferfad 3 & S O ot ) AT 2 2
(1) ST &3 & forg TR () PEAESS
3) TeR ¥s ' (4) TR T

65. Which among the following is included in Accounting Information Systems ?
(1) Sales order processing (2) Inventory control
(3) Payroll (4) All of the above
frfRed § W PF oRareT qET gonen ¥ wite @ ? |
(1) faspg Sreer gehHvT (2) g e
(3) I (4) SRR T

66. The occupation in which there is no need of capital is known as :
(1) Employment (2) Profession

(3) Both (1) and (2) (4) None of these
PG-EE-2017/(M. Com. Hons.)/(D)
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(1) SHTR (2) WHEE
(3) (1) v (2) & (4) 3 | BIS T
67. Which of the following cannot be classified as Genetic Industry ?
(1) Animal Husbandry (2) Mining
(3) Poultry Farming (4) Plantation
fﬁﬁ@ﬁﬁ%ﬁwﬁmwﬁ%wﬁﬁ%wﬁ%mwwmé?
(1) wETer () @
(3) Fffemer (4) geRIT
68. Commerce includes: _
(1) Business and Industry (2) Business and Trade
(3) Trade and aids to trade (4) None of the above
s # e ®
(1) qar™ Td ST (2) TEE™d (4 AR

@MWWWwW$%mwmﬂ (4) SR # F DIy Tel

69. The partner who neither invest money nor have share in the profit and loss and also

have no role in the administration of the firm is known as:
(1) Nominal Partner (2) Secret Partner
(3) Minor Partner (4) Partner by holding out

ﬂ@ﬂﬁﬂﬁ@ﬁﬁﬁﬂmHﬁwwﬁﬁﬁ%WmﬁwwﬁﬁwwWa
¥ wfrr A 7 8, 1 BEAR ¢
(1) AFAE AR (2) =T WIHER

(3) HIZTR AR (4) BIRET ITST ERT ARER

70. Reconstruction of sick public sector units is taken up by :
(1) MOFA (2) MoU
(3) BIFR (4) NRF
PG-EE-2017/(M. Com. Hons.)/(D) P.T.O.
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Wawéaﬁasaﬁa%mﬁmgﬁﬁﬁﬁﬁmm%mw%: |
(1) T4 37 7% ¢ 2) TH Mg
(3) & amE Uw IR | (4) TF 3R UH

71. Which of the following Act deals with recruitment and selection ?

- (1) Child Labour Act (2) The Apprentices Act

(3) Mines Act (4) All of the above
= % & BT vae Racie ok daaw @ A1 S dxarl & 2
(1) 9EeS AR Yo : 2) T qRfeR™ Tae

(3) WE T (4) S TR

‘72. Which furiction of management is known as 'Management-in-action' ? |
(1) Planning ' | (2) Organising
(3) Directing (4) Controlling
(1) vt | . (2) oifvfTgfoiT
- (3) srRRfeET (4) FferT

73. The two factor theory is based on which factors ?
) Hygiene and behavioural
(2) Safety and self-esteem
~ (3) Self actualization and status quotient
(4) None of the above -
< Baey i fr e wR SR & 7
(1) EEoie vvs faufaere
(2) AT TUE HhH-ZH |
(3) W UFGRIITSoIe QU8 e DN
(4) SWRIF H & BIg TRl

74. Who propounded the Need's theory ?
(1) Frederick Herzberg (2) Alderfer

(3) Abraham Harold Maslow (4) None of the above
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(1) weRa soiat (2) TeSIHR

(3) SrHTEd BRIes Al (4) SRIa § F B TE
75. Status comes under the following type of communication barriers :

(1) S_emantic barrier (2) Organisa’donal barrier

(3) Non-semantic barrier (4) Psychological barrier

e B TR @ Brfiee AREY & ST o ® 7

(1) drfes IR (2) sififrgoreTa IR

3) A-Rfed IR (4) ATgDIATIB IRW
76. Leadershipis:
(1) The process of influencing a group toward the achievement of goals
(2) A group that achieve goals
(3) The function of influencing a group towards achievement of goals
(4) Dlrectmg a group towards the achievement of goals
I T |
(1) quaﬁaaﬁﬁqﬁfaﬁsﬂ?mﬁﬁaﬂﬁaﬁm
(2) TE FU S oed YT bRl ©
(3) Wwﬁa&ﬁﬁmﬁﬁmmﬂﬁﬁmmw
(4) T 79 B el A o & S R B

77. An efficient control system helps to :
(1) Accomplish organisational objectives
(2) Boost employee morale
(3) Judge accuracy of standards
(4) All of the above
@ TRRE DI RIEH FAS B 2
(1) ETeTed Seagdl B T B #
(2) FHER & FAAEA B o ¥
(3) Tt B G B ST B A
(4) SwRIE
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78. What is the weakest form of control ?

(1) Pre-control (2) Simultaneous control
(3) Post control (4) Dual control
R0 &1 He FHGR /Y T 8 ?
(1) g-Prmer (2) ST friFo
(3) IR FEIA (4) <% fAEor

79. The only feasible purpose of financial management is :
(1) Wealth Maximisation _ (2) Sales Maximisation
(3) Profit Maximisation ' (4) Assets Maximisation
BIARRIT ARSiie &1 Bae Jqe e ¢
(1) Joor AfrawTSSTeH (2) Ao AfaaagorRE
(3) wifthe AfawTZorRT (4) wicH AfaamrgoieE

80. From the point of view of 'Floatation Costs' which source of finance is most
appropriate ?

(1) Equity capital (2) Debentures

(3) Preference share capital (4) Retained earnings

e TR B ARY @ B W T BT T SR 2 7
(1) zfaact dftee (2) fedus

(3) ™ AR bfded 4) Ris aff

81. If a fixed amount is withdrawn on the first day of every quarter, for what period the
interest on total drawings will be calculated ?

(1) 4.5 months (2) 5.5 months
(3) 6 months (4) 7.5 months

Ify W R @ Tsel RA ve FeiRa v e ot 8, @ 59 sl & fog g
AR W) &S B TOET DY S ?

(1) 4.5 918 (2) 5.5 98
(3) 6HE (4) 7.5T8
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82. Under fixed capital methods, profit will be credited to:

(1) Capital Account (2) Drawings

(3) Current A/c (4) Profit and Loss A/c
PR e Ry & siorta, @ BRke 2 :

(1) &oh @ o (2) @mERvr A

(3) @I @ H (4) «m-Efy @ A

83. A and B share profit and loss in the ratio 3/5 and 2/5 respectively and having capital
A/c balances of ¥ 1,00,000 each. At the time of revaluation, the firm's total asset book
value was % 60,000 while they can only be sold for ¥ 40,000. Which of the following is
the balance of A's capital A/c after revaluation of firm's assets ?

A@Bw@gﬁaﬁm:3/56%2/5$mﬂﬁaﬁeﬁ%awm$wisﬁ
e 99 % 1,00,000 ¥ | TG ® @wa, B B ge FIR gWE qed ¥ 60,000 .
aaﬁia%zﬁaa?w,oooﬁémwmwlﬁmﬁf@ﬁﬁmwﬁaﬁﬂmﬁra%

qciee @ 95 A Yol @ B A 7 ?
(1) %1,00,000 (2) % 88,000
(3) %1,12,000 (4) 72,000

84. X and Y are partners sharing profit and loss in ratio of 1 : 2. The net income for the
period is X 10,000. While salary of X is X 2,000, interest on Y's drawings Z 3,000 and
interest on X's capital is ¥ 2,000. What is the X's share of profit or loss ? ‘

x@YWm@aﬁﬁuza%mﬁﬁaﬁaﬁ%um%mgam?10,000
2, wafd X &7 a9 T 2,000,Y?33T13'\’UTWW?3,OOOHaTXﬁﬁ§xﬁq‘\’&’JTGT?2,OOO
2| X BT IR FT B, AW 3ral B ? -

(1) ¥3,000 (2) 6,000
(3) ¥9,000 (4) ¥11,000

85. If partner's capital A/cs are fixed, which of the following will be recorded in capital
A/c?

(1) Drawings made by partner
(2) Fresh capital introduced by partner
(3) Share of profit |
(4) Salary to partner
PG-EE-2017/(M. Com. Hons.)/(D) P.T.O.
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I wEER 3 Yo @ g € o) fefaRed # | R el @ # <ol fear s
(1) WEER gRT 5 T Smexer
(2) WERER R yKAEad e gon
(3) ™ &I AU
(4) HEIGR &1 I

86. In the absence of partnership deed, Interest on loan advanced by the partner to the
firm is allowed at the rate of :

(1) 6% 2) 9% (3) 12% (4) not allowed

AR foRg @ oERURY ¥, BH @Y WIEER g1 IR WO W @A B R B A
SRS

(1) 6% 2) 9% (3) 12% (4) erHfY & B

87. Goodwill is valued at two years purchase of the average profits of three previous
years, ie, ¥ 15,000. The value of goodwill is :

@ﬁma@iﬁﬁwaﬁaﬁamﬁﬂaaw%aﬁaﬁfﬁmw?15,000%1@@&?

e
(1) 215,000 (2) % 30,000
(3) ¥ 45,000 : : (4) % 75,000

88. Which of the following appears on the debit side of profit and loss appropriation
Account ?

(1) Interest on partner's capital

(2) Commission to partners

(3) Both of the above

(4) None of the above |

FreferRad § & 9 @ Td w1 RfER @ @ 3T o F gee BT § 7
(1) HEER & liaﬁ W &S

(2) WTEERT BT HHRMA

(3) ST QI

(4) SR H A IS T8
PG-EE-2017/(M. Com. Hons.)/(D)



D

“25

89. What is the formula for calculatihg goodwill using capitalization method ?

90.

91.

(1) Average Profit x Number of years of Purchase

Average Profit x 100

()

Number of years of purchase

Super Profit x 100

3)

Normal Rate of Return

(4) Super Profit x Annuity

Wﬂﬁ@mwﬁfﬁrmwwﬁww%?

(1) ofrad &M x %I @ o B |
@) airre & x 100

FHU P qu D HE&AT

(3) _ S @ x 100
[AEY gfAwe &R

(4) Sepe o x A

X and Y are partners sharing profit in ratio of 3 : 2. Z was adrmtted W1th 1 / 4th share

in profit which he acquires equally from X and Y. The new rat1o will be :

X de Y WEER ™ B 3 2&*@161?&@%12%&1“&% wmfﬁwamfa»‘m
W%Xamyﬁvmwﬁmw%‘lwmm

(1) 19:11:10 () 9:6:5
(3) 3:2:1 | 4) 12:11:10

Time series analysis is often used to :

(1) Assess developing trends

(2) Correct errors of judgement

(3) Reflect performance relative to some norms

(4) Standardize results

PG-EE-2017/(M. Com. Hons.)/(D) » | P.T.O.
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mwmwmﬁ?ﬁ%:
(1) TH Sl ¢S
(2) =g o1 |E Ffedr
(3) @B AFES D WOE YadA B UG B

(4) ¥essies yiRom

92. The ratio that explains how efficiently companies use their assets to generate
revenue :
(1) Revenue asset ratio (2) Receivable turnover ratio
(3) Income ratio (4) Asset turnover ratio
Wﬂﬁ%mm%%ﬁmmmwaﬁmﬁm
Uer Rl © ?
(1) SMI-|HRT U (2) U 3fTaciar AT
(3) 3 T (4) R Sfads JrgaTT

93. If selling price is fixed 25% above the cost, the Gross profit ratio is :
e 9! &1 N | 25% SR F9d &, O Adhed a4 AU ©
(1) 13% | (2) 20%
(3) 26% (4) 30%

94. An example of cash flow from operating activity is :
(1) Purchase of own debentures
(2) Sale of fixed assets by a firm
(3) Interest paid on term deposit by a bank
'(4) Issue of equity share capital
JTaRfeT gfaefddl | s yare &1 U SETER ©
(1) @8 & RS &1 HI
(2) T® BH @ gRI e FwRmal &1 fwa
(3) TH d@ & gRI cH feuivie R &t araT favam
(4) |HaT ofw Yol &1 e
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95. What is the immediate effect of making a capital repayment on a loan on profit and
| cash flow ?

(1) On profit-None, On Cash-Decrease

(2) On profit-Decrease, On Cash-Decrease

(3) On profit-Increase, On Cash-Decrease

(4) On profit-Increase, On Cash-None

TP AT TE AHS YAE B O TR GoN G e 1 ArRebiferd WHId 9T © 7
(1) 3 difthe-4, 39 He-fEpiet

(2) st wifee-Reior, st der-feare

(3) &< wifthe-gsbI, o her-femrat

(4) i difthe-gaspra, offF He-

96. Which of the following statements regarding managers in today's world is accurate ?
(1) Their age range is limited to between 30 and 65 years

(2) The quality of relationship between employees and their supervisors effect
employee productivity and loyalty

(3) Both (1) and (2)

(4) None of the above :

o & Rivg 3 Pt § ¥ -a1 BUF geudl @ Hay H wE g ?
(1) T8 amg W1 309 65 & dra WA 7

(2) wﬁaﬁﬁfqﬁwﬁqﬂﬁaﬁa%éﬁﬁwﬁw,maﬁmawﬁwaﬁ
goifaed exall @

(3) (1) @ (2) <=
(4) SRITT H | Blg el .

97. Which of the following features of profession is not available in management ?

(1) Well defined Body of knowledge (2) Professional association

(3) Service motive (4) None of these
a9 Frefia fearet § | Se- yded § Syerer Tel © ?
(1) ST &1 TR 9eR (2) MBI ARG
(3) w|ffw Afeq (4) SRIEE ¥ A B T
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98. Agency head or plant manager is most likely associated with which of the following ?

(1) Team leaders _ (2) Lower level m‘anagers‘
(3) Middle level managers (4) Top level managers
TOIRA BT v AT e AoR P § & waifte e @4t © 2
(1) dmaed (2) Frad wR & o
(3) A wR B HIOTH (4) ¥ "R & Ao

99. Authority, discipline, unity of command and unity of direction are :

(1) Taylor's principles of rﬁanagement
(2) Principles of the human rélations movement
(3) Elements of Weber's ideal bureaucratic structure
(4) Fayol's principles of management

et ST, YT aift wAFS T YA i SRR

(1) R B yEE B Rig
(2) wrEr Rl @ Ee @ Rigrd
(3) ¥R & STERAS RBRT WER D
(4) Ba & gauE B g

100. Frank and Lillian Gilbreth were advocates of an approach to management involving
the use of scientific method, known as :

‘(1) Quantitative approach (2) Management science
(3) Scientific management (4) Contingency approach

S o R frade S @ o TR @ ReRY R 4 @ e R T
I A &, S RN B

(1) ATAHS T () waRE e
O ICELRERECE @) ATHRTE T
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